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Section : General Knowledge

India emerged as one of the top six countries globally in filing patents for which upcoming technology, as stated by

the Union Minister of State for Communications and Rural Development in May 2025?
x 1. Quantum Computing technology
x 2. Artificial Intelligence (Al) technology
x 3.5G technology

« 4. 6G technology

The head of Judiciary in a state is called the
« 1. Chief Justice of the High Court
% 2. Chief Minister
x 3. Governor
x 4. Attorney General
Who among the following propounded the idea of 'Suddhi’, that the individuals who had converted to other
religions, should reconvert to Hinduism?
1. Debendranath Tagore
« 2. Dayananda Saraswati

3. Gopal Ganesh Agarkar

x 4. Ramakrishna Paramahamsa

Out of the 1319 reported mines in India (as of 2021-22), which state has the highest number of mines?

x 1. West Bengal

« 2. Madhya Pradesh

x 3. Andhra Pradesh

x 4. Gujarat
In October 2024, after the order of Supreme Court, which of the following states has started the sub-classification
of scheduled castes?

x 1. Kerala

x 2. Himachal Pradesh

« 3. Haryana

x 4. Punjab

In the Third Carnatic War, the British East India Company defeated the forces at the Battle of Wandiwash.
x 1. Portuguese

« 2. French

x 3. Dutch

x 4. Spanish
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Q.7 |According to Article 144 of the Indian Constitution, all authorities, civil and judicial, in the territory of India shall

act in aid of the _____
Ans « 1. Supreme Court of India
% 2. Prime Minister of India

x 3. Parliament

x 4. President of India

Q.8 Which of the following statements is true about alluvial soils in India?
Ans | x 1. Alluvial soils cover about 50% of the total area of the country and are mostly found in desert regions.
x 2. Alluvial soils are only found in the Ganga plains and not in the Brahmaputra valley.

« 3. Khadar represents new alluvium, deposited by floods annually, while Bhangar represents older alluvium deposited away

from flood plains.

x 4. Alluvial soils are rich in phosphorous but poor in potash.

0.9 Most of the rivers in Nagaland are tributaries of which major river?
Ans x 1. Yamuna

x 2. Ganges

x 3. Irrawaddy

« 4. Brahmaputra

Q.10 Which of the following rivers flows through the Thar Desert?
Ans « 1. Luni

X 2. Tapi

x 3. Pennar

x 4. Kosi

Q.11  What is the primary purpose of asking questions in the Parliament?
Ans « 1. To gather information and ensure accountability

% 2. To express personal opinions

¥ 3. To criticise the Government

x 4. To delay proceedings

Q.12 Which among the following was the mascot of Khelo India Winter Games 20247
Ans 1. Arctic Fox
« 2. Snow Leopard
X 3. Polar Bear
X 4. Snowy Owl
Q.13 The GST Council, responsible for making recommendations on GST implementation in India, is constituted under
which Article of the Constitution?
Ans x 1. Article 301
« 2. Article 279-A
x 3. Article 280

x 4. Article 370
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0.14 Which of the following social reformers was NOT associated with the Brahmo Samaj?

Ans « 1. Atmaram Pandurang
% 2. Keshub Chandra Sen
3. Raja Ram Mohan Roy
x 4. Debendranath Tagore
Q.15 Which of the following was the forced labour tax imposed on the common people by the Chola dynasty of Tamil
Nadu?
Ans « 1. Vetti
x 2. Tari-irai
x 3. Panjupili
x 4. llani
0.16  Who among the following was confirmed as the new chairman of the International Cricket Council (ICC), set to
begin his term on 1 December 2024?
Ans | x 1.Sourav Ganguly
« 2.Jay Shah
x 3. Greg Barclay

x 4. Shashank Manohar

Q.17 According to the 2011 Census of India, which religion is largely followed in Mizoram?
Ans x 1. Islam
2. Hinduism
x 3. Sikhism
« 4. Christianity
Q.18 As of October 2024, what is repayment period under ‘Virasat Scheme’ of National Minorities Development and
Finance Corporation (NMDFC)?
Ans « 1.5 years
x 2.4 years
x 3.2 years
x 4.3 years
Q.19 Which summit did Prime Minister Narendra Modi describe as an initiative that will 'stay, assist, partner, and
complement'?
Ans x 1. BRICS Summit 2024
X 2. ASEAN Summit 2024
« 3. QUAD Summit 2024

x 4.G20 Summit 2024

Q.20 With reference to Medieval history, who were Daswant and Basawan?
Ans 1. Musician in Babur’s court

X 2. Musician in Jahangir’s court

X 3. Finance Ministers in Akbar’s court

+ 4. Painters in Akbar’s court

Section : Logical Reasoning
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If 2 is added to each odd digit and 3 is subtracted from each even digit in the number 3457816, then what will the

sum of the digits which are third from the left and third from the right in the new number thus formed be?
Ans x1.16

x2.18
x3.14

w412

Q.22 Each vowel in the word WIRELESS is changed to the letter immediately following it in the English alphabetical

order and each consonant is changed to the letter immediately preceding it in the English alphabetical order.

Which of the following letters will be third from the right in the group of letters thus formed?
Ans s I.F

x2V
x3.)

x4.R
Q.23 What should come in place of the question mark (?) in the given series?

743 704 665 626 ?
Ans x 1. sg0
K2 544
v 3. 587
x4 548

Q.24 If 1is added to each odd digit and 2 is subtracted from each even digit in the number 27845617, what will be the

sum of the digits that are third from the left and second from the right?
Ans x17

x2.5
«3.8
x4.6

Q.25 Select the correct mirror image of the given combination when the mirror is placed at 'MN' as shown below.

M
CLUB7Y

N

Ans  »1Y8UI1D
x2.,4N719
x3vgucL
x4+B7U10

0.26 All 30 students in a class are standing in a row facing north. Roopa is ® from the right end while Anand is 16h
from the left end. How many people stand between Roopa and Anand?
Ans x1.3

x2.6
x3.4

w45
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Q.27 Six people, G, H, 1, ), S and T, are sitting around a circular table, facing the centre of the table. I sits to the

immediate right of H. G sits second to the right of of H. Only three people sit between | and T when counted from
the left of I. J sits to the immediate right of S. How many people sit between G and S when counted from the left of
S?

Ans  x 1.Three
x 2. Two
x 3. None
« 4.0ne
Q.28 CWHG is related to ZVEF in a certain way based on the English alphabetical order. In the same way, QAZT is related
to NZWS. To which of the given options is PDVF related, following the same logic?
Ans | x1.NDUD
« 2. MCSE
x 3.ODTF
x 4. NCUG
Q.29 Three of the following pairs of words are alike in a certain way and thus form a group. Which word-pair DOES NOT
belong to that group?
Ans | x 1.Sculptor - Chisel
x 2. Blacksmith - Anvil
« 3. Farmer - Screwdriver
x 4. Tailor - Needle
Q.30 Two sets of numbers are given below. In each set of numbers, certain mathematical operation(s) on the first

number results in the second number. Similarly, certain mathematical operation(s) on the second number results in

the third number and so on. Which of the given options follows the same set of operations as in the given sets?

(NOTE: Operations should be performed on the whole numbers, without breaking down the numbers into their
constituent digits. E.g. 13 - Operations on 13 such as adding / subtracting /multiplying to 13 can be performed.

Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is not allowed.)

6-9-5-2511-14 -10 - 50
Ans x1.15-17-20-80
¢2.16-19-15-75
x3.18-21-24-120
x4.11-13 -18-90
Q.31 [If all the letters of the word POLITICAL are rearranged according to the English alphabetical order, then how many
letters will retain their original position(s)?
Ans  x 1.Three
x 2. Two
« 3.0ne
x 4.Zero
Q.32 (CD 17 is related to HI 23 in a certain way. In the same way, KL 35 is related to PQ 41. To which of the given options
is ST 53 related, following the same logic?
Ans x 1.VW 47
%2.YZ 59
3. XY 59

x 4. WX 47
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Q.33 Each vowel in the word UNIVERSE is changed to the letter immediately following it in the English alphabetical

order and each consonant is changed to the letter immediately preceding it in the English alphabetical order. All
the letters thus formed are then arranged in the alphabetical order. Which of the following letters will appear on

second position from right in the new letter-cluster thus formed?
Ans x 1)
v 2. U
x3.F
x4.R
Q.34 If ‘A’ stands for ‘+’, ‘B’ stands for “x’, °C’ stands for ‘+’ and ‘D’ stands for ‘-’ , what will come in place of the question

mark (?) in the following equation?
84 A4B9C5D4="

Ans x1.178
x2.189
« 3.190

x 4.191

Q.35 What should come in place of the question mark (?) in the given series?

34 61881157 169
Ans x 1.139
w2.142
x3.137
x 4.146
0.36 Each letter in the word LONGHAIRS is changed to the letter immediately preceding it in the English alphabetical

order and then all the letters thus formed are arranged in the English alphabetical order. Which of the following

letters will be second from the right in the new group of letters thus formed?
Ans x1H

x2.G

x3.0

4R

Q.37 Based on the English alphabetical order, three of the following four letter-clusters are alike in a certain way and
thus form a group. Which letter-cluster DOES NOT belong to that group? (Note: The odd one out is not based on

the number of consonants/vowels or their position in the letter-cluster.)
Ans « 1. SOR
x 2.0LP
x 3. GDH
x 4. WTX

Q.38 Select the pair that follows the same pattern as that followed by the two pairs given below. Both pairs follow the
same pattern.

VLL : WNH
NKI : OME

Ans x 1.COP: DQK
x 2.DLI: EME
x 3. INK: JPF

« 4. WFR : XHN
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Q.39 Ina certain code language,

F+ H means °F is the brother of H';
F - H means F is the sister of H',
F x Hmeans T is son of H',
F + H means ‘F is the daughter of H'.
Based on the above, If R + S- T- U x V. then how is T related to R?
Ans | X1 Father’s brother
X 2. Father's sister
X 3. father
+ 4. Mother’s brother
Q.40 Select the set in which the numbers are related in the same way as are the numbers of the following sets.
(Note: Operations should be performed on the whole numbers, without breaking down the numbers into their

constituent digits. E.g., 13 — Operations on 13 such as adding/subtracting/multiplying to 13 can be performed.

Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is not allowed.)

(9, 81, 3)
(6, 54, 2)

Ans  x1.(10,90,3)
x2.(5,45,1)
x3.(8,64,2)
v 4.(12,108, 4)

Section : General English and Comprehension

Q.41 Select the most appropriate option to fill in the blank.

This is the girl ___ won the prize.
Ans x 1.whom
x 2. whose
« 3. who

x 4. which

Q.42 Select the most appropriate ANTONYM of the given word.

Docile
Ans | x 1. Submissive
x 2. Tractable
« 3. Defiant
x 4. Obedient
Q.43 Select the most appropriate option to fill in the blank.
___you complete your homework, you can watch TVv.
Ans s If
x 2. Unless
x 3. Though

x 4. Still
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Q.44 Select the most appropriate meaning of the given phrase.

To read the riot act
Ans | x 1.Toignore someone deliberately
x 2. To issue a public statement
3. To create a disturbance

« 4. To sternly warn someone

Q.45 Select the option that can be used as a one-word substitute for the underlined group of words.

Empowering women involves acquiring talent andkeeping in possession or usingtalent by having the right

environment where they can be promoted and thrive.
Ans « 1. retaining

x 2. acclimating

3. updating

x 4. fluctuating

Comprehension:

Read the given passage carefully and answer the questions that follow.

Modern environmentalism, once rooted in conservation and wilderness preservation, has evolved into a complex global
movement confronting climate change, economic inequality, and indigenous rights. Its goals are no longer confined to saving
endangered species or protecting remote ecosystems; rather, it now addresses how resource exploitation disproportionately
affects marginalised populations. Critics argue that environmental advocacy sometimes ignores socioeconomic realities,
imposing blanket solutions that disregard local contexts. Yet increasingly, grassroots leaders—especially from the Global South
—are reshaping the conversation, emphasising environmental justice over abstract preservation. This paradigm shift
underscores the need for inclusive frameworks that integrate ecological integrity with social equity. Activism today must
confront power imbalances within global capitalism, where pollution and exploitation are outsourced to vulnerable regions. The
green future cannot be envisioned without grappling with historical injustices. Thus, environmentalism’s trajectory is no longer
merely ecological—it is political, ethical, and intersectional, demanding redefinition in light of interconnected planetary and

human crises.
SubQuestion No : 46
Q.46 How is the structure of the passage best described?
Ans | x 1. Question-answer format: exploring doubts about activism
« 2. Comparison: contrasting Global North and South approaches
« 3. Historical progression: from past to present-day environmentalism

4. Narrative: telling the story of a single activist
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Comprehension:

Read the given passage carefully and answer the questions that follow.

Modern environmentalism, once rooted in conservation and wilderness preservation, has evolved into a complex global
movement confronting climate change, economic inequality, and indigenous rights. Its goals are no longer confined to saving
endangered species or protecting remote ecosystems; rather, it now addresses how resource exploitation disproportionately
affects marginalised populations. Critics argue that environmental advocacy sometimes ignores socioeconomic realities,
imposing blanket solutions that disregard local contexts. Yet increasingly, grassroots leaders—especially from the Global South
—are reshaping the conversation, emphasising environmental justice over abstract preservation. This paradigm shift
underscores the need for inclusive frameworks that integrate ecological integrity with social equity. Activism today must
confront power imbalances within global capitalism, where pollution and exploitation are outsourced to vulnerable regions. The
green future cannot be envisioned without grappling with historical injustices. Thus, environmentalism’s trajectory is no longer
merely ecological—it is political, ethical, and intersectional, demanding redefinition in light of interconnected planetary and

human crises.
SubQuestion No : 47
Q.47 What is the tone of the passage?
Ans | x 1. Celebratory and enthusiastic
2. Critical and dismissive
« 3. Humorous and skeptical

+« 4. Reflective and assertive

Comprehension:

Read the given passage carefully and answer the questions that follow.

Modern environmentalism, once rooted in conservation and wilderness preservation, has evolved into a complex global
movement confronting climate change, economic inequality, and indigenous rights. Its goals are no longer confined to saving
endangered species or protecting remote ecosystems; rather, it now addresses how resource exploitation disproportionately
affects marginalised populations. Critics argue that environmental advocacy sometimes ignores socioeconomic realities,
imposing blanket solutions that disregard local contexts. Yet increasingly, grassroots leaders—especially from the Global South
—are reshaping the conversation, emphasising environmental justice over abstract preservation. This paradigm shift
underscores the need for inclusive frameworks that integrate ecological integrity with social equity. Activism today must
confront power imbalances within global capitalism, where pollution and exploitation are outsourced to vulnerable regions. The
green future cannot be envisioned without grappling with historical injustices. Thus, environmentalism’s trajectory is no longer
merely ecological—it is political, ethical, and intersectional, demanding redefinition in light of interconnected planetary and

human crises.
SubQuestion No : 48
Q.48 What is the best summary of the passage?
Ans | x1.The passage describes how environmentalism should ignore politics.
« 2. Environmental movements have become global political efforts focused on justice and equity.
x 3. Environmental activism must return to traditional conservation ideals.

x 4. Environmentalism is now about saving endangered species through policy.



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247 Eooale Play

Comprehension:

Read the given passage carefully and answer the questions that follow.

Modern environmentalism, once rooted in conservation and wilderness preservation, has evolved into a complex global
movement confronting climate change, economic inequality, and indigenous rights. Its goals are no longer confined to saving
endangered species or protecting remote ecosystems; rather, it now addresses how resource exploitation disproportionately
affects marginalised populations. Critics argue that environmental advocacy sometimes ignores socioeconomic realities,
imposing blanket solutions that disregard local contexts. Yet increasingly, grassroots leaders—especially from the Global South
—are reshaping the conversation, emphasising environmental justice over abstract preservation. This paradigm shift
underscores the need for inclusive frameworks that integrate ecological integrity with social equity. Activism today must
confront power imbalances within global capitalism, where pollution and exploitation are outsourced to vulnerable regions. The
green future cannot be envisioned without grappling with historical injustices. Thus, environmentalism’s trajectory is no longer
merely ecological—it is political, ethical, and intersectional, demanding redefinition in light of interconnected planetary and

human crises.
SubQuestion No : 49
Q.49 How does the passage connect to real-world issues?
Ans x 1. It criticises activists from the Global South.
« 2. 1t discusses policy recommendations in the current UN climate reports.
* 3. It focuses on theoretical environmental models with no application.

« 4. It addresses ongoing debates about environmental justice and global inequality.

Comprehension:

Read the given passage carefully and answer the questions that follow.

Modern environmentalism, once rooted in conservation and wilderness preservation, has evolved into a complex global
movement confronting climate change, economic inequality, and indigenous rights. Its goals are no longer confined to saving
endangered species or protecting remote ecosystems; rather, it now addresses how resource exploitation disproportionately
affects marginalised populations. Critics argue that environmental advocacy sometimes ignores socioeconomic realities,
imposing blanket solutions that disregard local contexts. Yet increasingly, grassroots leaders—especially from the Global South
—are reshaping the conversation, emphasising environmental justice over abstract preservation. This paradigm shift
underscores the need for inclusive frameworks that integrate ecological integrity with social equity. Activism today must
confront power imbalances within global capitalism, where pollution and exploitation are outsourced to vulnerable regions. The
green future cannot be envisioned without grappling with historical injustices. Thus, environmentalism’s trajectory is no longer
merely ecological—it is political, ethical, and intersectional, demanding redefinition in light of interconnected planetary and

human crises.
SubQuestion No : 50
Q.50 What is the central theme of the passage?
Ans | x 1. Environmentalism is too idealistic to handle real-world issues.
x 2. The environment cannot be saved without economic development.
« 3. Contemporary environmentalism must include justice, equity, and global inclusivity.

x 4. Indigenous rights are more important than climate concerns.
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Comprehension:
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SubQuestion No : 56
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Comprehension:

U a1Q Terier & 3R W AEfAf@d g4t & 3R |

ARA & U I dllg e BT A9 YR 3T o1 g Afeab g &f & YT & 1o 319 S0 H $7h! Ucbs @A &1 1 31K Ig e

P8 T H & WA 38 7271 Ef. HNSHR A 3 TSl ad 51 Iy 396 HAT, 5 & 31f¥epar HeR Sifd & &, 39 RAfT gema &

&2 & AP $& T8 B VI §% 7 sl el Sl & 7d diegl B Sl DR 78 &1 IR H g e IRy IR TR & 9 quf s

TRE 7 GBI ITT 81 399 IR IR S@I07 3R Ui 61 o6 A0 w@nfid ¢ 3R Fae s § senfad dor 377 dmid I15g 81 dig
& BT HeIA 3R &1 § T Jefifas Aaducl 9= 3nenfid o 9= I 39T Jrst ¥ Uy &l YfafAfada "8 &l

SubQuestion No : 57
0.57 9Rd A dig enf &Y IRTm A & ?
Ans | 1 fgwT

X 2. gRIGTIETe!

x 3. fAursHar

x 4. TR qUTf arett

Comprehension:

U 370 3reier & 3meR R FEfaf@d g4 & 3w G

HRA & Tep FAY dlig e BT ATIS YR 3T 1 b Afeep 1&g &f b T S 1 391 STH H $7ch! Uebs WeH &l Tl 31K Ig e
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SubQuestion No : 58
Q.58 el ¥ Wb 'YAvoifad’ qg BT 31¢f &I -
Ans | x1.U% R $EI gs aId OB Bl

x 2. T I drear 3|
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Comprehension:

U 310 Terier & 3R W AFfAf@d 94t & 3R |
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SubQuestion No : 59
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Comprehension:

f&U a1Q Terier & 3MeR W AYfARAd g4 & 3R ffFvl

ARA & U I dlig e BT A9 YR 31 o1 b Afeap g & & YT & 1o 39 S0 H 37h! Ucbs @A &1 7 31R I8 b
P& T K & A 38 7271 Sf. NS HR A 3 TSl 1dd 15T Ty 39 AN, 5 I 3R HeR Sfa & &, 3191 RAfe gemA &1
&2 & AP $& T8 B VI §% 7 sl el Sl & 7d diegl B Sl DR 78 &1 IR H g e IRy IR TR & 9 quf s
TRE A AP fGARNT IR 81 399 IR R F@I07 3R [gufadl 61 o8 A0 121fid & 3R Ferel 3R & ssnfadt don 3y fnid Iz g1 dig
& BT HeIA 3R &1 § T Jefifas Aaducl 9= 3nenfid o 9= I 39T Jrst ¥ Uy &l YfafAfada "8 &l

SubQuestion No : 60
0.60 U I Tamier & fore 3ugw M arm -
Ans | x 1. fegen

o 2. TR & dig e

x 3. 9of fgurs=

x 4. 3w ef

Section : Basic Knowledge of Computer

Q.61 What happens to an email after you click the ‘Send’ button?
Ans | x 1. Itis saved in drafts.

x 2. It gets deleted.

¥ 3. It remains in the Outbox.

« 4. Itis sent to the recipient’s email server.

Q.62 Which file type CANNOT be opened in MS Excel 2021?
Ans  x 1. xls

x 2. xlsx

3. .excel

x 4..csv

Q.63 Which of the following is the most effective way to protect your smartphone from malware?
Ans | x 1. Install a mobile security app
% 2. 0nly download apps from trusted sources
« 3. Keep your operating system and apps up to date
x 4. Use a strong password and PIN code
Q.64 Which of the following is the correct option for creating a page border that appears on specific pages only, such as
the first page or a section’s first page?
Ans « 1. Use the Page Borders feature under the Design tab, then specify options in the Apply To menu.
x 2. Apply borders manually to text boxes on the desired pages.
x 3. Use the Page Layout tab to apply a border and specify pages.

x 4. Use the Design tab, then Borders and apply to the specific pages.

Q.65 Which keyboard shortcut copies the formatting of the selected text?
Ans x1.Ctrl+C+F

2. Ctrl + Shift + C

x 3. Ctrl+ Alt+C

v 4. Ctrl+C
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0.66 ‘Which of the following options is NOT present for viewing a presentation in MS PowerPoint?

Ans X1 glide Show View
« 2. Monitor View
X 3. Reading View

K 4. Presenter View

Q.67 How can smartphones be secured?
Ans | x 1.By not using VPN
X 2. By not connecting to secure Wi-Fi
« 3. By keeping Bluetooth off

x 4. By downloading software from untrusted sources

Q.68 Which of the following is NOT an email client?
Ans | x 1. Apple Mail
« 2. Firefox
x 3. Gmail
% 4. Microsoft Outlook
Q.69 Which action would one take to ensure that a forwarded email thread remains private and does NOT show the
email addresses of previous recipients in a webmail client?
Ans | x 1. Use the 'Reply All' function
« 2. Manually delete previous recipient information from the forwarded email
3. Use the 'BCC' field for new recipients

x 4. Change the email service provider

Q.70 Which of the following practices is essential for enhancing application security?
Ans | x 1.Sharing passwords with team members for collaborative work
« 2. Regularly updating software and applying security patches
x 3.Ignoring security warnings and pop-ups during software installation
x 4. Disabling antivirus software to avoid performance issues
Q.71 When adding a ClipArt picture to a PowerPoint slide in an MS PowerPoint, 2019, presentation, which of the
following steps is correct for finding and inserting the desired image?
Ans | x 1.Go to the 'Home' tab, select 'Insert Picture', then select 'ClipArt' from the options.
% 2. Go to the 'Design' tab and select 'ClipArt' to browse and insert pictures.
« 3. Go to the 'Insert’ tab, select 'Pictures’, then select 'Online Pictures' and search for ClipArt.

x 4. Go to the 'Slide Show' tab, select 'Add Picture' and then select 'ClipArt'".

Q.72 Which version of Windows introduced the Start Menu?
Ans « 1. Windows 95

% 2. Windows 3.1

x 3. Windows 7

x 4. Windows XP

Q.73 Which of the following options is NOT present while creating a new document using online templates in MS Word?
Ans  x 1. Flyers

x 2. Business

« 3. Conference

x 4. Cards



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247 Eooale Play

Q.74 What is the primary purpose of the 'BCC' field in an email?

Ans | x 1.Tosend a copy of the email to the sender
% 2. To block the email address of the recipient
3. To send a copy of the email to all recipients visible to each other

« 4.To send a blind carbon copy to recipients without revealing their email addresses to others

Q.75  Which of the following file extensions is used for saving an MS Excel spreadsheet?

Ans 1. xlsm
X 2. xlsh
v 3. xlsx
K4 xlix

0.76  Which tab of MS Word contains bullets and numbering?

Ans x 1. Layout
+ 2. Home
X 3. Insert

X4 View

Q.77 What is the maximum number of items that the Office Clipboard can store?
Ans x 1.50 items

« 2. 24 items

x 3.10 items

* 4. Unlimited

0.78 Which alignment option in MS Word aligns text evenly spaced across both the left and right margins?
Ans « 1. Justified
x 2. Left
x 3. Center
x 4. Right
Q.79 Which of the following keyboard shortcuts can be used to add a new blank slide after the current slide in an
existing MS PowerPoint presentation?
Ans x 1. Ctrl+S
x2.Ctrl +P
x3.Ctrl + A

v 4. Ctrl+ M

Q.80 What is the result of the following function in MS Excel 2010?

=SUM(A, 1, 2, 3)
Ans x16

2. #INAME?

x3.16

x 4. #VALUE!

Section : Quantitative Aptitude



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247 Eoogle Play

Q.81 A shopkeeper lists the price of a fan at 40% above its cost price and offers a 20% discount on its list price. If he
earns a profit of ¥144, then what is the list price (in ¥) of the fan?

Ans x1.1,883
v 2.1,680
x3.1,896
x4.1,822
Q.82 An item is marked 175% higher than its cost price. Even after allowing some discount, the shopkeeper earned 10%
profit. Find the discount percentage allowed by the shopkeeper.
Ans | x1.61%
x2.63%
«3.60%
x4.57%
Q.83 A shopkeeper offers a discount of 20% on an article and he still makes a profit of 10%. What is the cost price
(rounded off to the nearest integer) of the article with a marked price of ¥8007?
Ans « 1.3582
x2.3640
x 3.%682
x 4.3540
Q.84 The original price of a music set is ¥8,100. The price is discounted by 20% and then raised by 20%. What is its new
price (in¥)?
Ans  x1.8276
x2.7,076
v 3.7,776
x4.7276

0.85 When 0.131313 is converted into a fraction, then the result is:

Ans JW.E
99

x 2. 3
9
x 3. 23
99
x 4. 13
o

3 3
O Pipe P can fill = part of a tank in 24 hours and pipe Q can fill 7 patt of the same tank in 30 hours. Both P and Q were kept open for 7 hours, then both were closed.

- Pipe R alone was then opened and it emptied the water m the tank in 9 hours. Pipes P, Q and R together can fill the empty tank m:

> a

+ 1140 hours

=]

% 2.160 hours
% 3.143 hours

x 4.154 hours
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Q.87 The ratio of the present ages of Priya and Rahul is 7 : 5, and the sum of their present ages is 72 years. What is

Rahul's present age?
Ans x 1.32 years
x 2.25years
x 3.20 years
« 4.30 years
Q.88 The salary of a worker is first increased by 32%. Thereafter, it was reduced by t%; the net change in his salary is
18.8%. What is the value of t?
Ans  x1.9%
x2.8%
x3.7%
v 4.10%
Q.89 The average of a batsman in 22 innings is 46 runs. In the next innings, he scored 46 runs. What will be his new
average (in runs)?
Ans x 1.50
v 2.46
x3.54
x 4.58
Q.90 A reduction of 20% in the price of sugar enables a housewife to buy 4 kg more for ¥1,800. The reduced price of
sugar per kg is:
Ans x 1.100.5
x 2.7110
3.390

x4.395.5

0.91 The average of 6.5, 10.6, 19.7 and a is 15. The value of a is:
Ans x1.242

x2.252

«3.232

x4.222

Q.92 A person saves 60% of his income. If his expenditure is ¥600, then his income (in ¥) is:
Ans x 1.700
x 2.840
% 3.1,540
v 4.1,500
Q.93 A ship goes at a speed of 19 km/hr downstream and at a speed of 15 km/hr upstream. What will be the speed of the
ship in still water?
Ans  x1.16 km/hr
x 2.14 km/hr
% 3.15 km/hr

& 4.17 km/hr
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Q.94 TThree taps, A, B and C, when opened together, can fill a cistern in 5 hours. If the speed of C is double that of B and

the speed of B is double that of A, then how much time will A alone take to fill the empty cistern?
Ans +« 1.35 hours
% 2.36 hours
x 3.34 hours

x 4.33 hours

Q.95 How many digits are there in the square root of 986049?
Ans x15
x2.6
x3.4
w43
Q.96 In 1998, Paroma was 6.25 times as old as her niece, Seema. In 2001, Paroma was four times as old as Seema. In
which year was the age of Seema only 40% of that of Paroma?
Ans x 1.2006
x2.2007
% 3.2009
«4.2008
Q.97 Two candidates contested an election. The winning candidate scored 64% of the valid votes and won by 1,12,000
votes. If 58,000 votes were declared invalid, then find the total number of votes polled in the election.
Ans x 1.4,85,000
x 2.4,80,500
v 3.4,58,000

x 4.4,50,800

Q.98 Evaluate: 1850 - [450 - {210 - (90 - 80 - 10)}]
Ans x 1.1685

¢ 2.1610

x 3.1470

x 4.1540

0.99

643
Simplify the given expression. (ﬁ)

Ans | 1. 143
52

»2 14

49
x 3. 17
48
x4 145
50
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Q.100 Suraj covers 726 km in a boat in 45 hours against the stream and he takes 18 hours with the stream. Find the

approximate speed of the stream.
Ans | x1.10.93 km/hr
v 2.121km/hr
x 3.10.28 km/hr

x 4.2125 km/hr
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